Ohm’s Law
This needs to be on GRAPH PAPER and you need to USE A RULER!
Directions: For each of the described do the following:

1. draw the circuit 

2. label the positive and negative nodes

3. calculate the resistance

4. Calculate the current  
1-5 has a 6V power source:

1. A series circuit with a 3Ω and 5Ω resistance.
2. A series circuit with a 2Ω, a 10Ω and 6Ω resistance. 
3. A parallel circuit with 4Ω on one loop and 6Ω on the second.
4. A parallel circuit with 2 loops; 1st has 4 Ω and 2 Ω in series; 2nd a 5 Ω resistor then two 2Ω resistors in parallel (inner loop).
5. A parallel circuit with 2 loops; 1st has four 5 Ω resistors in series then two 5 Ω light bulbs in parallel on separate loops. 2nd main loop; one 10 Ω fuse and three 2 Ω motors in series then a parallel circuit with three 3 Ω capacitors on first inner loop and a 5 Ω light bulb on the second inner loop.  
6. A microwave with a resistance of 20 Ω and a coffee maker with a resistance of 10 Ω are connected in a parallel circuit. The microwave is also in series with the vent hood which has a resistance of 8 Ω. All of these are connected to a standard U.S. circuit.
7. A 3 loop parallel circuit the first loops has 2 capacitors (3 Ω) in series and an inside parallel circuit which has a light bulb (5 Ω) and a motor (1.5 Ω) on respective loops. The second loop has a fuse (6 Ω) and 4 light bulbs (5 Ω) in series. The third loop has TWO inner parallel circuits. The first inner circuit has a capacitor (3 Ω) and resistor (6 Ω) respectively. The second inner parallel circuit has 3 motors (1 Ω) in series and a fuse (6 Ω) on the second loop on the inner parallel circuit. 2 – 12V batteries.
